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3.1.7
9a ('8 227 221) 2 10a (72112 871 71 2207 DIVD)
Note: »oy *7 (ahead 1 13¥p) rules that a 'nbmust be 3 p’nov wide
L. 1N 7’s position on carrying underneath a nmp or between the o»n?
a. ~2r taught before 1any "1 that both areas are considered m%n72
b. v 1 rejected ®nM2
i. 7ax Ny 7 only meant to “delete” ruling about np; but agrees that 1’n%n 12 is MOR to carry
ii. 271N "1 meant to delete entire Xn»11 and permit both
1.Support (827): 131 1 ruled that mypn<4x4 is permitted for both 1”77 and »"n7 to use
a) As long as: they don’t transfer from mw to mwa through there
2.Block (72ax): that is only if the spot is raised v off the ground
3.Support (»2x): 21 ruled that the area inside the nna requires another 'n% to permit carrying there
a) Even if: there isn’t a space of 4 0nav squared inside
b) ~27 that’s only if it opens into a 9113 (and is “subsumed” by it)
i. Challenge: but if opened to a 1”7, it would be permitted? (results are counterintuitive)
1.Indeed: nnan 7n “identifies” with the n'9n13 and is identified by it (Y0 NR Pn Rx¥n)
ii. Challenge (to ¥27): 130V "1 ruled that if a »an has p'nb set up at regular intervals of less than v
1.272w15 (who holds that 71351s v”7): all considered one and may carry until inner lip of inner %
2. 72275 (who hold 71125 to be v"3): considered separate and may carry until inner lip of outer 5
a. Implication: in all cases, may not carry between n»n%
b. X127 also a case where it is opened up into n'9n13 (as above — N NR PN R¥N)
c. WK ‘7 case is DN which are<v™, but they stretch for r™
i. Therefore: if we apply 719, no longer a 'nY, rather a »an and requires another >
3.Question: according to 3”aw7, why not consider it 092n MWy pINan nxm
a.Answer: entire discussion is 130y 19, who holds that ...pynan nx71 isn’t considered a %
II. Status of a 'n% which is only visible from one side
a. If: only visible from inside ("pynan nw1 oraan nk1”) —all agree that it is a valid 'n%
b. But if: only visible from outside ("p»192n "MW1 Pinan nR1”) — dispute 17 92 W"/RPN A
i. 71 77 (as we demonstrate below): valid 'mY (11 72 w™ — invalid)
1. Support (for identification as 1”7): n"1 quoted R P21Y RNALIN
a) Nnooir a wall that has either side indented is considered a 'mY
b) Question: isn’t 3Ny 1 familiar with this Xnavin?
i. Answer: indeed — but he must have rejected it
1.Observation: perhaps ®7n " also rejected it (and doesn’t necessarily hold that that it is 'n%)
2. Answer:since n" taught it, he must subscribe to it->we can identify him as “n% mwn pm”
c.Assuming: 01910 MV PINan NRMN is a valid 'nY
i. Challenge:if a small 9¥n that is fully open into a large one — only the large one is 1mn
1.However: if we accept the rule of ..pynan R, the small one should be "1mn via that "n5”
2.Defense (871 “): case where the wall of the small one are inside the larger one (not contiguous)
a) Challenge: why not apply 1% and permit it?
b) Perhaps: the walls are further away than that
i. Block: "nvar 72 RTR "7 taught our case before 8110 1 — small is 10, large is 11
3.defense (X¥2227): it is 2 Nav away on one side and V"7 on the other side
a) Challenge: why not apply 729 to the one side and permit it?
b)  Answer: per 123, who requires 2 boards (one on each side) to permit carrying in nvp
d.  Analysis: if N5 DWN PTIIPR ..PINIAND IR
i. and: »171 accepts »0v "1 (see note), and rejects the solutions of R1727/871 "1
ii. then: we understand how the smaller 93¥n could be 10 and the larger — 11
iii. but if: we hold that pinan nx7...is a valid 'n%, then »17 accepts R12/RVT ™
1.and: doesn’t accept »ov 1 requirement
2.then: why do we need the larger one to be 11 mnr?
a) If: to permit larger 7¥n — could be 10/10.2
b) And if: to make smaller one MR, could be larger (not limited to 11)
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iv. Conclusion: he must hold that 'n% D1wn 11723 1R DI92N NIVI PINIAN IR
1.9op 27 didn’t recall this "MW — »ar reminded him that he had taught it
a) s context of this ruling was a 'nY that was an extension of »an wall
i. If: less than 8™, considered 'n% and is valid
ii. If: longer than 8™, considered »an and requires another 'n% to be 1nn
1.And: qov 11 had taught three conclusions from this ruling:
a. Omne: MOR PNY 2
b. Two: Size of "an — mnR 1
c.  Three: MY = 01920 MY PININ IRMN
iii. Final ruling: we rule in accord with qo1 29’s conclusion — it is a 'n%
1.In spite of: the Xmavn (above, with 1)
2.Reason: ®»n " taught the Xn»11 supporting it
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